CHM151 Quiz#5b 25Pts Spring 2005 Name: )'< @74

1. (8 Pts) Determine concentration of the excess reactant when 25.0 mL of 0.235 M nitric acid is reacted with
12.7 mL of 0.075 M of barium hydroxide.

AHNOy  +  Ba(oH), =2 Ao + 3‘("’03)
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2. (12 Pts) For the following reactions, write the total ionic equation and the net ionic equatiof.
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a. 2Al(s) + 6HNOs(aq) > 2AINO;)(aq) + 3Hx(g)

_ + - .
tol foniceq: QALG) + (YT & CNO, = ;l/%g £ GNO; + 3Hy ()
net ionic eq: 2/5}_/!(\ ‘<) + G/ * —> & Al 2* -4 3 Hl (J)

b. HBr(aq) + AgNO; > AgBr(s) + HNOs(aq)
total foniceq: H¥ + [ 7 4 A;* + MO,T —>> AL} Bri, + AR

net ionic eq: Agff + BT = /’r; br (s)

c. HCH;COO(ag) + NaOH(ag) & NaCH;COO(ag) + H;0()) '
wlioniceq: Yy coo + Na¥+ OF ™ = Mo + CHCO0T + HQ,Q@)
wtioniceq: [} CH2 €00 + OH™ 77 CH;Co0™ + 1,0 @

3. (5 Pts) Give formulas for the following:

a. two strong bases

b. one weak acid

¢. two strong acids.
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